

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A001

Name Aayisha Nabisab Harobelavadi

Campus ID 24500

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	118							200	118	Pass
			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	200	110							200	110	Pass
	100	86	60	50	30	23	10	10	200	169	
Kriya Sharira	200	122							200	122	Pass
	100	72	70	53	30	25			200	150	
Rachana Sharira	200	92							200	92	Fail
	100	63	70	54	30	20			200	137	
Samhita Adhyayan - I (Set-FC)	100	59							100	59	Pass
			75	61	15	12	10	10	100	83	
GRAND TOTAL									1700	1102	Fail

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A002

Name Aflah Zainab Anwar

Campus ID 24504

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	134							200	134	Pass
	Practicals			75	58	15	12	10	10	100	80	
Padartha Vijnanam (Set- FB)	Theory	200	137							200	137	Pass
	Practicals	100	91	60	56	30	24	10	10	200	181	
Kriya Sharira	Theory	200	135							200	135	Pass
	Practicals	100	74	70	57	30	24			200	155	
Rachana Sharira	Theory	200	115							200	115	Pass
	Practicals	100	65	70	56	30	16			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	69	15	12	10	10	100	91	
GRAND TOTAL										1700	1221	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED TWENTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A003

Name Agale Sakshi Sandeep

Campus ID 24532

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	143							200	143	Pass
	100	79	75	56	15	13	10	10	100	79	
Padartha Vijnanam (Set- FB)	200	141							200	141	Pass
	100	189	60	57	30	26	10	10	200	189	
Kriya Sharira	200	132							200	132	Pass
	100	161	70	59	30	27			200	161	
Rachana Sharira	200	103							200	103	Pass
	100	136	70	50	30	20			200	136	
Samhita Adhyayan - I (Set-FC)	100	65							100	65	Pass
		93	75	70	15	13	10	10	100	93	
GRAND TOTAL									1700	1242	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FORTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A004

Name Aishafatima Kazi Khayamoddin

Campus ID 24618

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	115							200	115	Pass
	Practicals			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	64	60	54	30	23	10	10	200	151	
Kriya Sharira	Theory	200	114							200	114	Pass
	Practicals	100	69	70	58	30	24			200	151	
Rachana Sharira	Theory	200	109							200	109	Pass
	Practicals	100	65	70	50	30	17			200	132	
Samhita Adhyayan - I (Set-FC)	Theory	100	60							100	60	Pass
	Practicals			75	58	15	11	10	10	100	79	
GRAND TOTAL										1700	1090	Second Class

Total Marks Scored (in words): ONE THOUSAND NINETY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A005

Name Anagha Sangle

Campus ID 24471

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	119							200	119	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	113							200	113	Pass
	Practicals	100	78	60	54	30	16	10	10	200	158	
Kriya Sharira	Theory	200	122							200	122	Pass
	Practicals	100	68	70	50	30	20			200	138	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	59	70	54	30	13			200	126	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	57	15	9	10	10	100	76	
GRAND TOTAL										1700	1079	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A006

Name Aneena Nazrin A P

Campus ID 24522

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	111							200	111	Pass
	Practicals			75	56	15	11	10	10	100	77	
Padartha Vijnanam (Set- FB)	Theory	200	105							200	105	Pass
	Practicals	100	81	60	45	30	16	10	10	200	152	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	69	70	50	30	20			200	139	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	61	70	52	30	15			200	128	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	52	15	9	10	10	100	71	
GRAND TOTAL										1700	1056	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A007

Name Anjali Bharti

Campus ID 24629

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	109							200	109	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	108							200	108	Pass
	Practicals	100	50	60	43	30	19	10	10	200	122	
Kriya Sharira	Theory	200	103							200	103	Pass
	Practicals	100	59	70	49	30	20			200	128	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	59	70	50	30	16			200	125	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	48	15	9	10	10	100	67	
GRAND TOTAL										1700	978	Second Class

Total Marks Scored (in words): NINE HUNDRED SEVENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A008

Name Ayeshath Shahama

Campus ID 24548

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	136							200	136	Pass
	Practicals			75	52	15	13	10	10	100	75	
Padartha Vijnanam (Set- FB)	Theory	200	130							200	130	Pass
	Practicals	100	94	60	54	30	25	10	10	200	183	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	74	70	60	30	28			200	162	
Rachana Sharira	Theory	200	111							200	111	Pass
	Practicals	100	72	70	54	30	20			200	146	
Samhita Adhyayan - I (Set-FC)	Theory	100	69							100	69	Pass
	Practicals			75	62	15	13	10	10	100	85	
GRAND TOTAL										1700	1223	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A009

Name Ayishath Tapsina

Campus ID 24682

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	123							200	123	Pass
	Practicals			75	50	15	12	10	10	100	72	
Padartha Vijnanam (Set- FB)	Theory	200	128							200	128	Pass
	Practicals	100	73	60	49	30	21	10	10	200	153	
Kriya Sharira	Theory	200	118							200	118	Pass
	Practicals	100	70	70	57	30	27			200	154	
Rachana Sharira	Theory	200	124							200	124	Pass
	Practicals	100	69	70	52	30	19			200	140	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	66	15	11	10	10	100	87	
GRAND TOTAL									1700	1156	First Class	

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A010

Name Aysha Nashreen

Campus ID 24488

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	126							200	126	Pass
	Practicals			75	50	15	11	10	10	100	71	
Padartha Vijnanam (Set- FB)	Theory	200	124							200	124	Pass
	Practicals	100	74	60	56	30	24	10	10	200	164	
Kriya Sharira	Theory	200	124							200	124	Pass
	Practicals	100	71	70	60	30	29			200	160	
Rachana Sharira	Theory	200	115							200	115	Pass
	Practicals	100	69	70	54	30	17			200	140	
Samhita Adhyayan - I (Set-FC)	Theory	100	64							100	64	Pass
	Practicals			75	64	15	10	10	10	100	84	
GRAND TOTAL										1700	1172	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A011

Name Balgaonkar Kartik Shrikant

Campus ID 24687

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	121							200	121	Pass
	Practicals			75	48	15	12	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	110							200	110	Pass
	Practicals	100	73	60	43	30	21	10	10	200	147	
Kriya Sharira	Theory	200	115							200	115	Pass
	Practicals	100	68	70	51	30	21			200	140	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	64	70	50	30	17			200	131	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	58	15	10	10	10	100	78	
GRAND TOTAL										1700	1068	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A012

Name Basale Shoaib Naushad

Campus ID 24491

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	117							200	117	Pass
	Practicals			75	47	15	12	10	10	100	69	
Padartha Vijnanam (Set- FB)	Theory	200	108							200	108	Pass
	Practicals	100	55	60	44	30	20	10	10	200	129	
Kriya Sharira	Theory	200	108							200	108	Pass
	Practicals	100	63	70	48	30	18			200	129	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	63	70	50	30	15			200	128	
Samhita Adhyayan - I (Set-FC)	Theory	100	38							100	38	Fail
	Practicals			75	46	15	9	10	10	100	65	
GRAND TOTAL										1700	991	Fail

Total Marks Scored (in words): NINE HUNDRED NINETY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A013

Name Benakaraj Talawar

Campus ID 24695

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	91							200	91	Fail
	Practicals			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	101							200	101	Pass
	Practicals	100	65	60	47	30	18	10	10	200	140	
Kriya Sharira	Theory	200	93							200	93	Fail
	Practicals	100	54	70	36	30	20			200	110	
Rachana Sharira	Theory	200	78							200	78	Fail
	Practicals	100	59	70	52	30	10			200	121	
Samhita Adhyayan - I (Set-FC)	Theory	100	36							100	36	Fail
	Practicals			75	45	15	9	10	10	100	64	
GRAND TOTAL										1700	899	Fail

Total Marks Scored (in words): EIGHT HUNDRED NINETY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A015

Name Bhuvi Das

Campus ID 24485

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	121							200	121	Pass
	Practicals			75	48	15	13	10	10	100	71	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	89	60	49	30	23	10	10	200	171	
Kriya Sharira	Theory	200	111							200	111	Pass
	Practicals	100	66	70	50	30	25			200	141	
Rachana Sharira	Theory	200	113							200	113	Pass
	Practicals	100	65	70	51	30	18			200	134	
Samhita Adhyayan - I (Set-FC)	Theory	100	58							100	58	Pass
	Practicals			75	58	15	12	10	10	100	80	
GRAND TOTAL										1700	1117	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A016

Name Bindu Y M

Campus ID 24584

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	135							200	135	Pass
	Practicals			75	56	15	13	10	10	100	79	
Padartha Vijnanam (Set- FB)	Theory	200	135							200	135	Pass
	Practicals	100	90	60	56	30	26	10	10	200	182	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	68	70	55	30	26			200	149	
Rachana Sharira	Theory	200	111							200	111	Pass
	Practicals	100	68	70	53	30	20			200	141	
Samhita Adhyayan - I (Set-FC)	Theory	100	75							100	75	Pass
	Practicals			75	62	15	14	10	10	100	86	
GRAND TOTAL										1700	1223	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A017

Name Chaudhary Yashasvi Vijay

Campus ID 24588

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	122							200	122	Pass
	Practicals			75	52	15	13	10	10	100	75	
Padartha Vijnanam (Set- FB)	Theory	200	128							200	128	Pass
	Practicals	100	77	60	49	30	24	10	10	200	160	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	69	70	48	30	25			200	142	
Rachana Sharira	Theory	200	112							200	112	Pass
	Practicals	100	65	70	50	30	20			200	135	
Samhita Adhyayan - I (Set-FC)	Theory	100	64							100	64	Pass
	Practicals			75	65	15	14	10	10	100	89	
GRAND TOTAL										1700	1153	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A018

Name Chavan Aakanksha Bharat

Campus ID 24470

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	100							200	100	Pass
	Practicals			75	56	15	12	10	10	100	78	
Padartha Vijnanam (Set- FB)	Theory	200	102							200	102	Pass
	Practicals	100	59	60	50	30	19	10	10	200	138	
Kriya Sharira	Theory	200	105							200	105	Pass
	Practicals	100	63	70	48	30	21			200	132	
Rachana Sharira	Theory	200	83							200	83	Fail
	Practicals	100	53	70	50	30	15			200	118	
Samhita Adhyayan - I (Set-FC)	Theory	100	54							100	54	Pass
	Practicals			75	63	15	11	10	10	100	84	
GRAND TOTAL										1700	994	Fail

Total Marks Scored (in words): NINE HUNDRED NINETY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A019

Name Chikate Chetan Kautik

Campus ID 24520

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	110							200	110	Pass
	100	65	75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	200	108							200	108	Pass
	100	65	60	43	30	16	10	10	200	134	
Kriya Sharira	200	116							200	116	Pass
	100	64	70	50	30	19			200	133	
Rachana Sharira	200	103							200	103	Pass
	100	54	70	52	30	14			200	120	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	45	15	8	10	10	100	63	
GRAND TOTAL									1700	1002	Second Class

Total Marks Scored (in words): ONE THOUSAND TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A020

Name Dalvi Sonal Ramchandra

Campus ID 24512

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	110							200	110	Pass
	Practicals			75	56	15	12	10	10	100	78	
Padartha Vijnanam (Set- FB)	Theory	200	122							200	122	Pass
	Practicals	100	86	60	48	30	23	10	10	200	167	
Kriya Sharira	Theory	200	124							200	124	Pass
	Practicals	100	71	70	62	30	25			200	158	
Rachana Sharira	Theory	200	112							200	112	Pass
	Practicals	100	61	70	54	30	17			200	132	
Samhita Adhyayan - I (Set-FC)	Theory	100	67							100	67	Pass
	Practicals			75	60	15	11	10	10	100	81	
GRAND TOTAL										1700	1151	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A021

Name Dange Sahil Suresh Suresh

Campus ID 24461

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	123							200	123	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	123							200	123	Pass
	Practicals	100	85	60	53	30	26	10	10	200	174	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	82	70	45	30	25			200	152	
Rachana Sharira	Theory	200	114							200	114	Pass
	Practicals	100	69	70	56	30	20			200	145	
Samhita Adhyayan - I (Set-FC)	Theory	100	67							100	67	Pass
	Practicals			75	50	15	13	10	10	100	73	
GRAND TOTAL										1700	1167	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SIXTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A022

Name Debangshu Hazra

Campus ID 24549

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	108							200	108	Pass
	Practicals			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	111							200	111	Pass
	Practicals	100	74	60	48	30	16	10	10	200	148	
Kriya Sharira	Theory	200	118							200	118	Pass
	Practicals	100	71	70	35	30	22			200	128	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	61	70	51	30	12			200	124	
Samhita Adhyayan - I (Set-FC)	Theory	100	60							100	60	Pass
	Practicals			75	58	15	10	10	10	100	78	
GRAND TOTAL										1700	1045	Second Class

Total Marks Scored (in words): ONE THOUSAND FORTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A023

Name Durgam Vignitha Srinivasu

Campus ID 24593

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	136							200	136	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	88	60	54	30	19	10	10	200	171	
Kriya Sharira	Theory	200	133							200	133	Pass
	Practicals	100	82	70	40	30	26			200	148	
Rachana Sharira	Theory	200	124							200	124	Pass
	Practicals	100	64	70	52	30	18			200	134	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	74	15	12	10	10	100	96	
GRAND TOTAL										1700	1198	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED NINETY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A024

Name Fathima Nourin

Campus ID 24530

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	146							200	146	Pass
			75	50	15	13	10	10	100	73	
Padartha Vijnanam (Set- FB)	200	126							200	126	Pass
	100	95	60	52	30	26	10	10	200	183	
Kriya Sharira	200	132							200	132	Pass
	100	84	70	42	30	28			200	154	
Rachana Sharira	200	121							200	121	Pass
	100	67	70	60	30	20			200	147	
Samhita Adhyayan - I (Set-FC)	100	72							100	72	Pass
			75	63	15	13	10	10	100	86	
GRAND TOTAL									1700	1240	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FORTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A025

Name Fathima Shafeeqa

Campus ID 24551

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	115							200	115	Pass
	Practicals			75	56	15	12	10	10	100	78	
Padartha Vijnanam (Set- FB)	Theory	200	112							200	112	Pass
	Practicals	100	85	60	55	30	20	10	10	200	170	
Kriya Sharira	Theory	200	116							200	116	Pass
	Practicals	100	81	70	40	30	19			200	140	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	65	70	58	30	17			200	140	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	60	15	10	10	10	100	80	
GRAND TOTAL										1700	1122	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A026

Name Fathima Shaina Wafa

Campus ID 24550

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	117							200	117	Pass
	Practicals			75	56	15	12	10	10	100	78	
Padartha Vijnanam (Set- FB)	Theory	200	104							200	104	Pass
	Practicals	100	62	60	50	30	16	10	10	200	138	
Kriya Sharira	Theory	200	106							200	106	Pass
	Practicals	100	78	70	40	30	23			200	141	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	64	70	52	30	13			200	129	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	62	15	11	10	10	100	83	
GRAND TOTAL										1700	1057	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A027

Name Fatimath Fazeela I B

Campus ID 24581

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	133							200	133	Pass
	100	83	75	60	15	13	10	10	100	83	
Padartha Vijnanam (Set- FB)	200	142							200	142	Pass
	100	88	60	48	30	27	10	10	200	173	
Kriya Sharira	200	131							200	131	Pass
	100	87	70	44	30	29			200	160	
Rachana Sharira	200	119							200	119	Pass
	100	71	70	57	30	20			200	148	
Samhita Adhyayan - I (Set-FC)	100	60							100	60	Pass
			75	66	15	13	10	10	100	89	
GRAND TOTAL									1700	1238	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED THIRTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A028

Name Gathade Parth Chandrakant

Campus ID 24468

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	117							200	117	Pass
			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	200	122							200	122	Pass
	100	80	60	48	30	20	10	10	200	158	
Kriya Sharira	200	126							200	126	Pass
	100	79	70	35	30	25			200	139	
Rachana Sharira	200	108							200	108	Pass
	100	67	70	54	30	17			200	138	
Samhita Adhyayan - I (Set-FC)	100	61							100	61	Pass
			75	59	15	11	10	10	100	80	
GRAND TOTAL									1700	1115	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A029

Name Gaurav Prakash Tiwari

Campus ID 24521

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	125							200	125	Pass
	Practicals			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	102							200	102	Pass
	Practicals	100	67	60	47	30	20	10	10	200	144	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	74	70	35	30	23			200	132	
Rachana Sharira	Theory	200	104							200	104	Pass
	Practicals	100	69	70	53	30	15			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	58							100	58	Pass
	Practicals			75	63	15	11	10	10	100	84	
GRAND TOTAL										1700	1060	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A030

Name Gosavi Dnyaneshwari Ishwar

Campus ID 24474

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	127							200	127	Pass
	Practicals			75	44	15	13	10	10	100	67	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	78	60	53	30	26	10	10	200	167	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	83	70	44	30	26			200	153	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	71	70	58	30	21			200	150	
Samhita Adhyayan - I (Set-FC)	Theory	100	69							100	69	Pass
	Practicals			75	65	15	13	10	10	100	88	
GRAND TOTAL										1700	1177	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-SEVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A031

Name Gunjal Shweta Rajaram

Campus ID 24688

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	129							200	129	Pass
	Practicals			75	50	15	12	10	10	100	72	
Padartha Vijnanam (Set- FB)	Theory	200	127							200	127	Pass
	Practicals	100	69	60	56	30	24	10	10	200	159	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	71	70	45	30	25			200	141	
Rachana Sharira	Theory	200	111							200	111	Pass
	Practicals	100	69	70	57	30	16			200	142	
Samhita Adhyayan - I (Set-FC)	Theory	100	70							100	70	Pass
	Practicals			75	65	15	12	10	10	100	87	
GRAND TOTAL										1700	1164	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SIXTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A032

Name Gurav Harshada Niteen

Campus ID 24539

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	119							200	119	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	114							200	114	Pass
	Practicals	100	47	60	40	30	16	10	10	200	113	
Kriya Sharira	Theory	200	115							200	115	Pass
	Practicals	100	75	70	35	30	21			200	131	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	63	70	50	30	11			200	124	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	55	15	8	10	10	100	73	
GRAND TOTAL										1700	1011	Second Class

Total Marks Scored (in words): ONE THOUSAND ELEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A033

Name Hugewad Rohit Vijay

Campus ID 24514

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	119							200	119	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	104							200	104	Pass
	Practicals	100	77	60	49	30	16	10	10	200	152	
Kriya Sharira	Theory	200	119							200	119	Pass
	Practicals	100	73	70	35	30	25			200	133	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	69	70	58	30	18			200	145	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	66	15	11	10	10	100	87	
GRAND TOTAL										1700	1087	Second Class

Total Marks Scored (in words): ONE THOUSAND EIGHTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A034

Name Huzaif Khan Mohammed Khan

Campus ID 24508

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	112							200	112	Pass
	Practicals			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	100							200	100	Pass
	Practicals	100	58	60	46	30	18	10	10	200	132	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	78	70	35	30	22			200	135	
Rachana Sharira	Theory	200	104							200	104	Pass
	Practicals	100	65	70	54	30	15			200	134	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	53	15	9	10	10	100	72	
GRAND TOTAL										1700	1013	Second Class

Total Marks Scored (in words): ONE THOUSAND THIRTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A035

Name Jadhav Aniket Avinash

Campus ID 24543

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	104							200	104	Pass
			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	200	104							200	104	Pass
	100	69	60	43	30	19	10	10	200	141	
Kriya Sharira	200	123							200	123	Pass
	100	72	70	35	30	21			200	128	
Rachana Sharira	200	113							200	113	Pass
	100	67	70	52	30	17			200	136	
Samhita Adhyayan - I (Set-FC)	100	52							100	52	Pass
			75	48	15	10	10	10	100	68	
GRAND TOTAL									1700	1031	Second Class

Total Marks Scored (in words): ONE THOUSAND THIRTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A036

Name Kamthe Aarti Sharadkumar

Campus ID 24475

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	138							200	138	Pass
	Practicals			75	46	15	12	10	10	100	68	
Padartha Vijnanam (Set- FB)	Theory	200	121							200	121	Pass
	Practicals	100	66	60	55	30	23	10	10	200	154	
Kriya Sharira	Theory	200	121							200	121	Pass
	Practicals	100	76	70	35	30	24			200	135	
Rachana Sharira	Theory	200	108							200	108	Pass
	Practicals	100	66	70	51	30	18			200	135	
Samhita Adhyayan - I (Set-FC)	Theory	100	63							100	63	Pass
	Practicals			75	59	15	12	10	10	100	81	
GRAND TOTAL										1700	1124	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A037

Name Kateejatul Nishma

Campus ID 24545

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	116							200	116	Pass
	Practicals			75	46	15	12	10	10	100	68	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	76	60	55	30	22	10	10	200	163	
Kriya Sharira	Theory	200	121							200	121	Pass
	Practicals	100	80	70	40	30	25			200	145	
Rachana Sharira	Theory	200	114							200	114	Pass
	Practicals	100	72	70	57	30	17			200	146	
Samhita Adhyayan - I (Set-FC)	Theory	100	58							100	58	Pass
	Practicals			75	69	15	12	10	10	100	91	
GRAND TOTAL										1700	1139	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A038

Name Kazi Yusuf Mushtakahmad

Campus ID 24472

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	113							200	113	Pass
	Practicals			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	114							200	114	Pass
	Practicals	100	70	60	52	30	19	10	10	200	151	
Kriya Sharira	Theory	200	117							200	117	Pass
	Practicals	100	82	70	35	30	23			200	140	
Rachana Sharira	Theory	200	104							200	104	Pass
	Practicals	100	64	70	52	30	16			200	132	
Samhita Adhyayan - I (Set-FC)	Theory	100	55							100	55	Pass
	Practicals			75	63	15	10	10	10	100	83	
GRAND TOTAL										1700	1071	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A039

Name Khan Mohd Saad Ishtiaque Ahmed

Campus ID 24691

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	110							200	110	Pass
	Practicals			75	42	15	12	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	120							200	120	Pass
	Practicals	100	73	60	53	30	18	10	10	200	154	
Kriya Sharira	Theory	200	114							200	114	Pass
	Practicals	100	76	70	35	30	22			200	133	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	68	70	53	30	16			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	51							100	51	Pass
	Practicals			75	57	15	9	10	10	100	76	
GRAND TOTAL										1700	1065	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A041

Name Khathija Raiyana

Campus ID 24546

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	108							200	108	Pass
	Practicals			75	46	15	11	10	10	100	67	
Padartha Vijnanam (Set- FB)	Theory	200	106							200	106	Pass
	Practicals	100	70	60	53	30	19	10	10	200	152	
Kriya Sharira	Theory	200	114							200	114	Pass
	Practicals	100	82	70	35	30	19			200	136	
Rachana Sharira	Theory	200	89							200	89	Fail
	Practicals	100	67	70	53	30	15			200	135	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	65	15	10	10	10	100	85	
GRAND TOTAL										1700	1042	Fail

Total Marks Scored (in words): ONE THOUSAND FORTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A042

Name Khot Zainab Zameer

Campus ID 24473

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	134							200	134	Pass
	100	76	75	54	15	12	10	10	100	76	
Padartha Vijnanam (Set- FB)	200	117							200	117	Pass
	100	84	60	56	30	27	10	10	200	177	
Kriya Sharira	200	131							200	131	Pass
	100	91	70	45	30	28			200	164	
Rachana Sharira	200	110							200	110	Pass
	100	65	70	58	30	21			200	144	
Samhita Adhyayan - I (Set-FC)	100	66							100	66	Pass
			75	69	15	13	10	10	100	92	
GRAND TOTAL									1700	1211	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED ELEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A043

Name Kondhalkar Suyash Subhash

Campus ID 24625

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	113							200	113	Pass
	Practicals			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	106							200	106	Pass
	Practicals	100	68	60	53	30	17	10	10	200	148	
Kriya Sharira	Theory	200	121							200	121	Pass
	Practicals	100	77	70	35	30	20			200	132	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	65	70	55	30	15			200	135	
Samhita Adhyayan - I (Set-FC)	Theory	100	55							100	55	Pass
	Practicals			75	61	15	10	10	10	100	81	
GRAND TOTAL										1700	1061	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A044

Name Kumbhar Sakshi Mangesh

Campus ID 24597

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	131							200	131	Pass
	100	78	75	56	15	12	10	10	100	78	
Padartha Vijnanam (Set- FB)	200	115							200	115	Pass
	100	89	60	54	30	22	10	10	200	175	
Kriya Sharira	200	128							200	128	Pass
	100	77	70	35	30	21			200	133	
Rachana Sharira	200	109							200	109	Pass
	100	71	70	59	30	20			200	150	
Samhita Adhyayan - I (Set-FC)	100	59							100	59	Pass
			75	66	15	11	10	10	100	87	
GRAND TOTAL									1700	1165	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SIXTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A045

Name Lodha Yash Rajesh

Campus ID 24694

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	122							200	122	Pass
	Practicals			75	50	15	12	10	10	100	72	
Padartha Vijnanam (Set- FB)	Theory	200	118							200	118	Pass
	Practicals	100	82	60	56	30	23	10	10	200	171	
Kriya Sharira	Theory	200	123							200	123	Pass
	Practicals	100	74	70	35	30	28			200	137	
Rachana Sharira	Theory	200	109							200	109	Pass
	Practicals	100	72	70	62	30	21			200	155	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	70	15	13	10	10	100	93	
GRAND TOTAL										1700	1157	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A046

Name Losare Shrinath Ashokrao

Campus ID 24586

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	101							200	101	Pass
			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	200	82							200	82	Fail
	100	32	60	28	30	15	10	10	200	85	
Kriya Sharira	200	87							200	87	Fail
	100	72	70	36	30	18			200	126	
Rachana Sharira	200	88							200	88	Fail
	100	63	70	52	30	14			200	129	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	40	15	8	10	10	100	58	
GRAND TOTAL									1700	867	Fail

Total Marks Scored (in words): EIGHT HUNDRED SIXTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A047

Name Mahishale Taherabanu Imtiyazahmad

Campus ID 24518

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	115							200	115	Pass
	Practicals			75	52	15	11	10	10	100	73	
Padartha Vijnanam (Set- FB)	Theory	200	112							200	112	Pass
	Practicals	100	78	60	46	30	18	10	10	200	152	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	77	70	35	30	21			200	133	
Rachana Sharira	Theory	200	103							200	103	Pass
	Practicals	100	63	70	50	30	15			200	128	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	48	15	9	10	10	100	67	
GRAND TOTAL										1700	1042	Second Class

Total Marks Scored (in words): ONE THOUSAND FORTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A048

Name Mahmada Haneef Mahiboob Inamadar

Campus ID 24585

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	104							200	104	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	100							200	100	Pass
	Practicals	100	55	60	41	30	17	10	10	200	123	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	73	70	35	30	21			200	129	
Rachana Sharira	Theory	200	104							200	104	Pass
	Practicals	100	61	70	51	30	16			200	128	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	50	15	10	10	10	100	70	
GRAND TOTAL										1700	981	Second Class

Total Marks Scored (in words): NINE HUNDRED EIGHTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A049

Name Malik Rehan

Campus ID 24490

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	119							200	119	Pass
	Practicals			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	58	60	42	30	20	10	10	200	130	
Kriya Sharira	Theory	200	122							200	122	Pass
	Practicals	100	74	70	35	30	24			200	133	
Rachana Sharira	Theory	200	117							200	117	Pass
	Practicals	100	65	70	54	30	17			200	136	
Samhita Adhyayan - I (Set-FC)	Theory	100	52							100	52	Pass
	Practicals			75	55	15	11	10	10	100	76	
GRAND TOTAL										1700	1057	Second Class

Total Marks Scored (in words): ONE THOUSAND FIFTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A050

Name Marina Amal

Campus ID 24478

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	137							200	137	Pass
	Practicals			75	56	15	13	10	10	100	79	
Padartha Vijnanam (Set- FB)	Theory	200	113							200	113	Pass
	Practicals	100	95	60	55	30	21	10	10	200	181	
Kriya Sharira	Theory	200	124							200	124	Pass
	Practicals	100	91	70	45	30	24			200	160	
Rachana Sharira	Theory	200	120							200	120	Pass
	Practicals	100	69	70	50	30	18			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	58							100	58	Pass
	Practicals			75	64	15	12	10	10	100	86	
GRAND TOTAL										1700	1195	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED NINETY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A051

Name Matwal Tahrim Zakir

Campus ID 24580

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	132							200	132	Pass
	Practicals			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	Theory	200	114							200	114	Pass
	Practicals	100	82	60	55	30	21	10	10	200	168	
Kriya Sharira	Theory	200	129							200	129	Pass
	Practicals	100	74	70	35	30	22			200	131	
Rachana Sharira	Theory	200	111							200	111	Pass
	Practicals	100	63	70	51	30	14			200	128	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	72	15	12	10	10	100	94	
GRAND TOTAL										1700	1128	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A052

Name Md Farhan

Campus ID 24511

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	115							200	115	Pass
	Practicals			75	42	15	11	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	89							200	89	Fail
	Practicals	100	75	60	55	30	18	10	10	200	158	
Kriya Sharira	Theory	200	106							200	106	Pass
	Practicals	100	77	70	44	30	22			200	143	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	65	70	52	30	16			200	133	
Samhita Adhyayan - I (Set-FC)	Theory	100	51							100	51	Pass
	Practicals			75	63	15	9	10	10	100	82	
GRAND TOTAL										1700	1040	Fail

Total Marks Scored (in words): ONE THOUSAND FORTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A053

Name Mogali Saikhushi Kaashirao

Campus ID 24692

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	106							200	106	Pass
			75	42	15	11	10	10	100	63	
Padartha Vijnanam (Set- FB)	200	82							200	82	Fail
	100	46	60	35	30	16	10	10	200	107	
Kriya Sharira	200	87							200	87	Fail
	100	75	70	35	30	17			200	127	
Rachana Sharira	200	85							200	85	Fail
	100	61	70	50	30	12			200	123	
Samhita Adhyayan - I (Set-FC)	100	39							100	39	Fail
			75	40	15	8	10	10	100	58	
GRAND TOTAL									1700	877	Fail

Total Marks Scored (in words): EIGHT HUNDRED SEVENTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A054

Name Mogali Sairaj Kaashirao

Campus ID 24535

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	94							200	94	Fail
			75	40	15	10	10	10	100	60	
Padartha Vijnanam (Set- FB)	200	86							200	86	Fail
	100	56	60	35	30	15	10	10	200	116	
Kriya Sharira	200	100							200	100	Pass
	100	72	70	35	30	17			200	124	
Rachana Sharira	200	100							200	100	Pass
	100	62	70	50	30	10			200	122	
Samhita Adhyayan - I (Set-FC)	100	36							100	36	Fail
			75	38	15	8	10	10	100	56	
GRAND TOTAL									1700	894	Fail

Total Marks Scored (in words): EIGHT HUNDRED NINETY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A055

Name Mohammad Zeeshan Shaikh Mohd Zaheer

Campus ID 24587

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	110							200	110	Pass
	Practicals			75	42	15	11	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	104							200	104	Pass
	Practicals	100	69	60	50	30	16	10	10	200	145	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	84	70	35	30	20			200	139	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	67	70	54	30	13			200	134	
Samhita Adhyayan - I (Set-FC)	Theory	100	31							100	31	Fail
	Practicals			75	43	15	8	10	10	100	61	
GRAND TOTAL										1700	987	Fail

Total Marks Scored (in words): NINE HUNDRED EIGHTY-SEVEN

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A056

Name Mohammed Bilal Ebad

Campus ID 24495

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	112							200	112	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	105							200	105	Pass
	Practicals	100	50	60	35	30	16	10	10	200	111	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	64	70	35	30	18			200	117	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	65	70	50	30	14			200	129	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	40	15	8	10	10	100	58	
GRAND TOTAL										1700	956	Second Class

Total Marks Scored (in words): NINE HUNDRED FIFTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A057

Name Mohammed Huzaif Afzal Ahamed Sanklipur

Campus ID 24480

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	92							200	92	Fail
			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	200	108							200	108	Pass
	100	76	60	38	30	16	10	10	200	140	
Kriya Sharira	200	119							200	119	Pass
	100	78	70	35	30	21			200	134	
Rachana Sharira	200	113							200	113	Pass
	100	64	70	55	30	13			200	132	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	44	15	9	10	10	100	63	
GRAND TOTAL									1700	1012	Fail

Total Marks Scored (in words): ONE THOUSAND TWELVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A058

Name Mokashi Ummesalama Adam

Campus ID 24516

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	106							200	106	Pass
	Practicals			75	42	15	12	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	108							200	108	Pass
	Practicals	100	60	60	45	30	21	10	10	200	136	
Kriya Sharira	Theory	200	100							200	100	Pass
	Practicals	100	77	70	35	30	20			200	132	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	63	70	50	30	15			200	128	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	46	15	11	10	10	100	67	
GRAND TOTAL										1700	996	Second Class

Total Marks Scored (in words): NINE HUNDRED NINETY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A059

Name Mousumi Akter Pramanik

Campus ID 24537

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	115							200	115	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	100							200	100	Pass
	Practicals	100	88	60	45	30	19	10	10	200	162	
Kriya Sharira	Theory	200	118							200	118	Pass
	Practicals	100	88	70	46	30	26			200	160	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	66	70	54	30	17			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	54							100	54	Pass
	Practicals			75	48	15	11	10	10	100	69	
GRAND TOTAL										1700	1086	Second Class

Total Marks Scored (in words): ONE THOUSAND EIGHTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A060

Name Munazza Mahek

Campus ID 24531

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	122							200	122	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	88	60	55	30	26	10	10	200	179	
Kriya Sharira	Theory	200	131							200	131	Pass
	Practicals	100	76	70	35	30	30			200	141	
Rachana Sharira	Theory	200	117							200	117	Pass
	Practicals	100	69	70	58	30	19			200	146	
Samhita Adhyayan - I (Set-FC)	Theory	100	67							100	67	Pass
	Practicals			75	73	15	14	10	10	100	97	
GRAND TOTAL										1700	1183	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED EIGHTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A061

Name Musa Nagma Siraj

Campus ID 24614

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	119							200	119	Pass
	Practicals			75	44	15	13	10	10	100	67	
Padartha Vijnanam (Set- FB)	Theory	200	129							200	129	Pass
	Practicals	100	86	60	57	30	25	10	10	200	178	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	84	70	64	30	28			200	176	
Rachana Sharira	Theory	200	126							200	126	Pass
	Practicals	100	80	70	60	30	20			200	160	
Samhita Adhyayan - I (Set-FC)	Theory	100	64							100	64	Pass
	Practicals			75	73	15	14	10	10	100	97	
GRAND TOTAL										1700	1246	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FORTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A062

Name Nahidha Subair

Campus ID 24489

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	125							200	125	Pass
	Practicals			75	48	15	12	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	128							200	128	Pass
	Practicals	100	84	60	56	30	24	10	10	200	174	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	83	70	56	30	24			200	163	
Rachana Sharira	Theory	200	119							200	119	Pass
	Practicals	100	69	70	55	30	18			200	142	
Samhita Adhyayan - I (Set-FC)	Theory	100	63							100	63	Pass
	Practicals			75	70	15	11	10	10	100	91	
GRAND TOTAL										1700	1205	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A063

Name Nakhash Mahmood

Campus ID 24426

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	112							200	112	Pass
			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	200	100							200	100	Pass
	100	59	60	48	30	16	10	10	200	133	
Kriya Sharira	200	95							200	95	Fail
	100	71	70	49	30	20			200	140	
Rachana Sharira	200	91							200	91	Fail
	100	61	70	50	30	19			200	130	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	67	15	10	10	10	100	87	
GRAND TOTAL									1700	1003	Fail

Total Marks Scored (in words): ONE THOUSAND THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A064

Name Narute Abhay Pramod

Campus ID 24685

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	114							200	114	Pass
			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	200	88							200	88	Fail
	100	50	60	45	30	16	10	10	200	121	
Kriya Sharira	200	100							200	100	Pass
	100	80	70	36	30	16			200	132	
Rachana Sharira	200	100							200	100	Pass
	100	65	70	54	30	16			200	135	
Samhita Adhyayan - I (Set-FC)	100	45							100	45	Fail
			75	64	15	9	10	10	100	83	
GRAND TOTAL									1700	979	Fail

Total Marks Scored (in words): NINE HUNDRED SEVENTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A065

Name Netra

Campus ID 24578

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	135							200	135	Pass
	Practicals			75	60	15	14	10	10	100	84	
Padartha Vijnanam (Set- FB)	Theory	200	137							200	137	Pass
	Practicals	100	89	60	58	30	24	10	10	200	181	
Kriya Sharira	Theory	200	131							200	131	Pass
	Practicals	100	88	70	60	30	28			200	176	
Rachana Sharira	Theory	200	108							200	108	Pass
	Practicals	100	67	70	55	30	16			200	138	
Samhita Adhyayan - I (Set-FC)	Theory	100	64							100	64	Pass
	Practicals			75	71	15	14	10	10	100	95	
GRAND TOTAL										1700	1249	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FORTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A066

Name Nida Azeez

Campus ID 24479

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	126							200	126	Pass
	100	67	75	46	15	11	10	10	100	67	
Padartha Vijnanam (Set- FB)	200	122							200	122	Pass
	100	69	60	45	30	19	10	10	200	143	
Kriya Sharira	200	121							200	121	Pass
	100	90	70	48	30	25			200	163	
Rachana Sharira	200	107							200	107	Pass
	100	65	70	56	30	18			200	139	
Samhita Adhyayan - I (Set-FC)	100	54							100	54	Pass
			75	58	15	12	10	10	100	80	
GRAND TOTAL									1700	1122	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A067

Name Nishat Rajjub Pathan

Campus ID 24458

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	113							200	113	Pass
	Practicals			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	111							200	111	Pass
	Practicals	100	71	60	48	30	18	10	10	200	147	
Kriya Sharira	Theory	200	113							200	113	Pass
	Practicals	100	83	70	42	30	24			200	149	
Rachana Sharira	Theory	200	107							200	107	Pass
	Practicals	100	63	70	57	30	17			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	55	15	12	10	10	100	77	
GRAND TOTAL										1700	1066	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A068

Name Pallavi Kumari

Campus ID 24544

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	126							200	126	Pass
	Practicals			75	60	15	13	10	10	100	83	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	86	60	57	30	26	10	10	200	179	
Kriya Sharira	Theory	200	131							200	131	Pass
	Practicals	100	85	70	56	30	25			200	166	
Rachana Sharira	Theory	200	113							200	113	Pass
	Practicals	100	73	70	55	30	20			200	148	
Samhita Adhyayan - I (Set-FC)	Theory	100	63							100	63	Pass
	Practicals			75	70	15	12	10	10	100	92	
GRAND TOTAL										1700	1226	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED TWENTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A069

Name Patgar Nikita Ganesh

Campus ID 24686

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	135							200	135	Pass
	Practicals			75	60	15	12	10	10	100	82	
Padartha Vijnanam (Set- FB)	Theory	200	137							200	137	Pass
	Practicals	100	92	60	57	30	27	10	10	200	186	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	88	70	64	30	29			200	181	
Rachana Sharira	Theory	200	106							200	106	Pass
	Practicals	100	71	70	59	30	20			200	150	
Samhita Adhyayan - I (Set-FC)	Theory	100	68							100	68	Pass
	Practicals			75	70	15	15	10	10	100	95	
GRAND TOTAL										1700	1270	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED SEVENTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A070

Name Pathan Anam Tanzeen

Campus ID 24582

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	117							200	117	Pass
	Practicals			75	46	15	12	10	10	100	68	
Padartha Vijnanam (Set- FB)	Theory	200	126							200	126	Pass
	Practicals	100	81	60	52	30	21	10	10	200	164	
Kriya Sharira	Theory	200	117							200	117	Pass
	Practicals	100	84	70	65	30	25			200	174	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	65	70	55	30	17			200	137	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	62	15	13	10	10	100	85	
GRAND TOTAL										1700	1151	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FIFTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A071

Name Pathan Rehan Aslam

Campus ID 24497

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	100							200	100	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	50	60	43	30	16	10	10	200	119	
Kriya Sharira	Theory	200	103							200	103	Pass
	Practicals	100	82	70	53	30	17			200	152	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	63	70	50	30	14			200	127	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	50	15	9	10	10	100	69	
GRAND TOTAL										1700	988	Second Class

Total Marks Scored (in words): NINE HUNDRED EIGHTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A072

Name Patil Vaishnavi Jayant

Campus ID 24517

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	138							200	138	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	108							200	108	Pass
	Practicals	100	80	60	50	30	21	10	10	200	161	
Kriya Sharira	Theory	200	116							200	116	Pass
	Practicals	100	86	70	52	30	21			200	159	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	66	70	51	30	17			200	134	
Samhita Adhyayan - I (Set-FC)	Theory	100	53							100	53	Pass
	Practicals			75	66	15	12	10	10	100	88	
GRAND TOTAL										1700	1123	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A073

Name Prachi Santosh Jadhav

Campus ID 24462

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	121							200	121	Pass
	Practicals			75	50	15	13	10	10	100	73	
Padartha Vijnanam (Set- FB)	Theory	200	118							200	118	Pass
	Practicals	100	78	60	52	30	21	10	10	200	161	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	89	70	65	30	27			200	181	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	71	70	57	30	16			200	144	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	69	15	11	10	10	100	90	
GRAND TOTAL										1700	1164	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SIXTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A074

Name Razvi Syed Abdullah Syed Najeeb

Campus ID 24505

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	111							200	111	Pass
	Practicals			75	42	15	11	10	10	100	63	
Padartha Vijnanam (Set- FB)	Theory	200	118							200	118	Pass
	Practicals	100	65	60	50	30	20	10	10	200	145	
Kriya Sharira	Theory	200	105							200	105	Pass
	Practicals	100	89	70	53	30	25			200	167	
Rachana Sharira	Theory	200	104							200	104	Pass
	Practicals	100	69	70	54	30	18			200	141	
Samhita Adhyayan - I (Set-FC)	Theory	100	56							100	56	Pass
	Practicals			75	58	15	10	10	10	100	78	
GRAND TOTAL										1700	1088	Second Class

Total Marks Scored (in words): ONE THOUSAND EIGHTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A075

Name Revan Namdev Kesarkar

Campus ID 24527

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	122							200	122	Pass
	Practicals			75	42	15	12	10	10	100	64	
Padartha Vijnanam (Set- FB)	Theory	200	113							200	113	Pass
	Practicals	100	77	60	50	30	21	10	10	200	158	
Kriya Sharira	Theory	200	118							200	118	Pass
	Practicals	100	87	70	60	30	25			200	172	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	65	70	53	30	17			200	135	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	65	15	12	10	10	100	87	
GRAND TOTAL										1700	1140	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A076

Name Rukiya Muneefa

Campus ID 24541

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	129							200	129	Pass
	Practicals			75	56	15	13	10	10	100	79	
Padartha Vijnanam (Set- FB)	Theory	200	112							200	112	Pass
	Practicals	100	70	60	43	30	18	10	10	200	141	
Kriya Sharira	Theory	200	118							200	118	Pass
	Practicals	100	85	70	59	30	22			200	166	
Rachana Sharira	Theory	200	103							200	103	Pass
	Practicals	100	70	70	60	30	16			200	146	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	63	15	12	10	10	100	85	
GRAND TOTAL										1700	1129	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A077

Name Sabiq Ahamad

Campus ID 24496

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	120							200	120	Pass
	Practicals			75	46	15	12	10	10	100	68	
Padartha Vijnanam (Set- FB)	Theory	200	119							200	119	Pass
	Practicals	100	74	60	52	30	19	10	10	200	155	
Kriya Sharira	Theory	200	132							200	132	Pass
	Practicals	100	84	70	58	30	22			200	164	
Rachana Sharira	Theory	200	101							200	101	Pass
	Practicals	100	65	70	55	30	16			200	136	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	64	15	11	10	10	100	85	
GRAND TOTAL										1700	1130	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A078

Name Sadaf Khudusiya

Campus ID 24528

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	130							200	130	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	131							200	131	Pass
	Practicals	100	71	60	52	30	24	10	10	200	157	
Kriya Sharira	Theory	200	132							200	132	Pass
	Practicals	100	88	70	58	30	28			200	174	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	73	70	59	30	19			200	151	
Samhita Adhyayan - I (Set-FC)	Theory	100	65							100	65	Pass
	Practicals			75	68	15	13	10	10	100	91	
GRAND TOTAL										1700	1202	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A079

Name Sakpal Poorvi Jitendra

Campus ID 24502

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	130							200	130	Pass
	100	83	75	60	15	13	10	10	100	83	
Padartha Vijnanam (Set- FB)	200	106							200	106	Pass
	100	83	60	57	30	21	10	10	200	171	
Kriya Sharira	200	112							200	112	Pass
	100	87	70	54	30	25			200	166	
Rachana Sharira	200	103							200	103	Pass
	100	69	70	58	30	18			200	145	
Samhita Adhyayan - I (Set-FC)	100	50							100	50	Pass
			75	50	15	12	10	10	100	72	
GRAND TOTAL									1700	1138	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED THIRTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A080

Name Sawant Ravina Ravindra

Campus ID 24487

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	139							200	139	Pass
	Practicals			75	60	15	14	10	10	100	84	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	66	60	52	30	22	10	10	200	150	
Kriya Sharira	Theory	200	116							200	116	Pass
	Practicals	100	90	70	65	30	27			200	182	
Rachana Sharira	Theory	200	105							200	105	Pass
	Practicals	100	67	70	55	30	19			200	141	
Samhita Adhyayan - I (Set-FC)	Theory	100	54							100	54	Pass
	Practicals			75	70	15	13	10	10	100	93	
GRAND TOTAL										1700	1181	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED EIGHTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A081

Name Sayyad Jinera Mustakali

Campus ID 24538

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	116							200	116	Pass
			75	44	15	11	10	10	100	65	
Padartha Vijnanam (Set- FB)	200	107							200	107	Pass
	100	58	60	39	30	18	10	10	200	125	
Kriya Sharira	200	105							200	105	Pass
	100	73	70	54	30	18			200	145	
Rachana Sharira	200	86							200	86	Fail
	100	61	70	54	30	16			200	131	
Samhita Adhyayan - I (Set-FC)	100	40							100	40	Fail
			75	48	15	8	10	10	100	66	
GRAND TOTAL									1700	986	Fail

Total Marks Scored (in words): NINE HUNDRED EIGHTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A082

Name Sayyed Mudassir Sayyed Mobin

Campus ID 24507

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	114							200	114	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	75							200	75	Fail
	Practicals	100	50	60	35	30	15	10	10	200	110	
Kriya Sharira	Theory	200	92							200	92	Fail
	Practicals	100	61	70	38	30	21			200	120	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	59	70	50	30	14			200	123	
Samhita Adhyayan - I (Set-FC)	Theory	100	40							100	40	Fail
	Practicals			75	44	15	9	10	10	100	63	
GRAND TOTAL										1700	898	Fail

Total Marks Scored (in words): EIGHT HUNDRED NINETY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A083

Name Shadan Alam

Campus ID 24609

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	120							200	120	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	105							200	105	Pass
	Practicals	100	61	60	33	30	17	10	10	200	121	
Kriya Sharira	Theory	200	111							200	111	Pass
	Practicals	100	84	70	64	30	22			200	170	
Rachana Sharira	Theory	200	102							200	102	Pass
	Practicals	100	62	70	54	30	16			200	132	
Samhita Adhyayan - I (Set-FC)	Theory	100	40							100	40	Fail
	Practicals			75	53	15	10	10	10	100	73	
GRAND TOTAL										1700	1035	Fail

Total Marks Scored (in words): ONE THOUSAND THIRTY-FIVE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A084

Name Shaik Faisal Danish

Campus ID 24463

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	111							200	111	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	50	60	45	30	17	10	10	200	122	
Kriya Sharira	Theory	200	122							200	122	Pass
	Practicals	100	77	70	64	30	22			200	163	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	63	70	52	30	14			200	129	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	49	15	9	10	10	100	68	
GRAND TOTAL										1700	1061	Second Class

Total Marks Scored (in words): ONE THOUSAND SIXTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A085

Name Shaikh Azwa Junaid Alam

Campus ID 24526

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	120							200	120	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	126							200	126	Pass
	Practicals	100	61	60	50	30	25	10	10	200	146	
Kriya Sharira	Theory	200	131							200	131	Pass
	Practicals	100	73	70	58	30	25			200	156	
Rachana Sharira	Theory	200	110							200	110	Pass
	Practicals	100	69	70	51	30	18			200	138	
Samhita Adhyayan - I (Set-FC)	Theory	100	61							100	61	Pass
	Practicals			75	72	15	12	10	10	100	94	
GRAND TOTAL										1700	1148	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A086

Name Shaikh Saad Abdul Matin

Campus ID 24499

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	100							200	100	Pass
	100	60	75	40	15	10	10	10	100	60	
Padartha Vijnanam (Set- FB)	200	77							200	77	Fail
	100	42	60	45	30	17	10	10	200	114	
Kriya Sharira	200	100							200	100	Pass
	100	60	70	48	30	19			200	127	
Rachana Sharira	200	80							200	80	Fail
	100	59	70	51	30	13			200	123	
Samhita Adhyayan - I (Set-FC)	100	34							100	34	Fail
			75	51	15	8	10	10	100	69	
GRAND TOTAL									1700	884	Fail

Total Marks Scored (in words): EIGHT HUNDRED EIGHTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A087

Name Sheikh Raziul Islam Afnan

Campus ID 24519

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	73							200	73	Fail
			75	40	15	9	10	10	100	59	
Padartha Vijnanam (Set- FB)	200	68							200	68	Fail
	100	44	60	33	30	15	10	10	200	102	
Kriya Sharira	200	84							200	84	Fail
	100	61	70	36	30	19			200	116	
Rachana Sharira	200	78							200	78	Fail
	100	61	70	50	30	12			200	123	
Samhita Adhyayan - I (Set-FC)	100	29							100	29	Fail
			75	50	15	9	10	10	100	69	
GRAND TOTAL									1700	801	Fail

Total Marks Scored (in words): EIGHT HUNDRED ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A088

Name Shimran Jana

Campus ID 24384

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	129							200	129	Pass
	Practicals			75	52	15	12	10	10	100	74	
Padartha Vijnanam (Set- FB)	Theory	200	113							200	113	Pass
	Practicals	100	70	60	53	30	24	10	10	200	157	
Kriya Sharira	Theory	200	106							200	106	Pass
	Practicals	100	73	70	58	30	24			200	155	
Rachana Sharira	Theory	200	76							200	76	Fail
	Practicals	100	61	70	52	30	18			200	131	
Samhita Adhyayan - I (Set-FC)	Theory	100	55							100	55	Pass
	Practicals			75	67	15	13	10	10	100	90	
GRAND TOTAL										1700	1086	Fail

Total Marks Scored (in words): ONE THOUSAND EIGHTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A089

Name Shivam Kumar

Campus ID 24460

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	132							200	132	Pass
			75	52	15	12	10	10	100	74	
Padartha Vijnanam (Set- FB)	200	116							200	116	Pass
	100	66	60	53	30	22	10	10	200	151	
Kriya Sharira	200	115							200	115	Pass
	100	64	70	36	30	23			200	123	
Rachana Sharira	200	110							200	110	Pass
	100	58	70	51	30	14			200	123	
Samhita Adhyayan - I (Set-FC)	100	58							100	58	Pass
			75	69	15	11	10	10	100	90	
GRAND TOTAL									1700	1092	Second Class

Total Marks Scored (in words): ONE THOUSAND NINETY-TWO

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A090

Name Shivangi Sharma

Campus ID 24589

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	131							200	131	Pass
	Practicals			75	48	15	12	10	10	100	70	
Padartha Vijnanam (Set- FB)	Theory	200	117							200	117	Pass
	Practicals	100	72	60	54	30	24	10	10	200	160	
Kriya Sharira	Theory	200	112							200	112	Pass
	Practicals	100	67	70	57	30	26			200	150	
Rachana Sharira	Theory	200	109							200	109	Pass
	Practicals	100	69	70	65	30	20			200	154	
Samhita Adhyayan - I (Set-FC)	Theory	100	52							100	52	Pass
	Practicals			75	70	15	13	10	10	100	93	
GRAND TOTAL									1700	1148	First Class	

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED FORTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A091

Name Shivsharan Prerana Chandrakant

Campus ID 24477

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	127							200	127	Pass
	Practicals			75	50	15	12	10	10	100	72	
Padartha Vijnanam (Set- FB)	Theory	200	101							200	101	Pass
	Practicals	100	52	60	50	30	21	10	10	200	133	
Kriya Sharira	Theory	200	123							200	123	Pass
	Practicals	100	75	70	60	30	23			200	158	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	65	70	54	30	17			200	136	
Samhita Adhyayan - I (Set-FC)	Theory	100	52							100	52	Pass
	Practicals			75	52	15	12	10	10	100	74	
GRAND TOTAL										1700	1076	Second Class

Total Marks Scored (in words): ONE THOUSAND SEVENTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A092

Name Shweta Kumari

Campus ID 24524

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	111							200	111	Pass
	Practicals			75	46	15	11	10	10	100	67	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	60	60	40	30	19	10	10	200	129	
Kriya Sharira	Theory	200	109							200	109	Pass
	Practicals	100	74	70	55	30	22			200	151	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	60	70	51	30	15			200	126	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	63	15	10	10	10	100	83	
GRAND TOTAL										1700	1033	Second Class

Total Marks Scored (in words): ONE THOUSAND THIRTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A093

Name Siddiqui Adeeba Minhaj

Campus ID 24632

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	111							200	111	Pass
	Practicals			75	40	15	11	10	10	100	61	
Padartha Vijnanam (Set- FB)	Theory	200	106							200	106	Pass
	Practicals	100	56	60	38	30	18	10	10	200	122	
Kriya Sharira	Theory	200	107							200	107	Pass
	Practicals	100	61	70	47	30	18			200	126	
Rachana Sharira	Theory	200	92							200	92	Fail
	Practicals	100	67	70	56	30	15			200	138	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	56	15	9	10	10	100	75	
GRAND TOTAL										1700	988	Fail

Total Marks Scored (in words): NINE HUNDRED EIGHTY-EIGHT

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A094

Name Sikkalgar Mohd Nigarees Mohd Iqbal

Campus ID 24503

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	100							200	100	Pass
	Practicals			75	40	15	12	10	10	100	62	
Padartha Vijnanam (Set- FB)	Theory	200	89							200	89	Fail
	Practicals	100	40	60	30	30	15	10	10	200	95	
Kriya Sharira	Theory	200	83							200	83	Fail
	Practicals	100	50	70	35	30	15			200	100	
Rachana Sharira	Theory	200	88							200	88	Fail
	Practicals	100	65	70	50	30	10			200	125	
Samhita Adhyayan - I (Set-FC)	Theory	100	28							100	28	Fail
	Practicals			75	35	15	8	10	10	100	53	
GRAND TOTAL										1700	823	Fail

Total Marks Scored (in words): EIGHT HUNDRED TWENTY-THREE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A095

Name Suralkar Vrunda Pralhad

Campus ID 24684

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	128							200	128	Pass
	Practicals			75	60	15	12	10	10	100	82	
Padartha Vijnanam (Set- FB)	Theory	200	111							200	111	Pass
	Practicals	100	77	60	53	30	18	10	10	200	158	
Kriya Sharira	Theory	200	119							200	119	Pass
	Practicals	100	80	70	65	30	24			200	169	
Rachana Sharira	Theory	200	114							200	114	Pass
	Practicals	100	69	70	60	30	19			200	148	
Samhita Adhyayan - I (Set-FC)	Theory	100	55							100	55	Pass
	Practicals			75	64	15	13	10	10	100	87	
GRAND TOTAL										1700	1171	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-ONE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A096

Name Tanya Das

Campus ID 24482

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	126							200	126	Pass
	Practicals			75	64	15	13	10	10	100	87	
Padartha Vijnanam (Set- FB)	Theory	200	140							200	140	Pass
	Practicals	100	80	60	56	30	26	10	10	200	172	
Kriya Sharira	Theory	200	129							200	129	Pass
	Practicals	100	76	70	60	30	28			200	164	
Rachana Sharira	Theory	200	111							200	111	Pass
	Practicals	100	65	70	53	30	21			200	139	
Samhita Adhyayan - I (Set-FC)	Theory	100	54							100	54	Pass
	Practicals			75	61	15	11	10	10	100	82	
GRAND TOTAL									1700	1204	First Class	

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A097

Name Taufeeque Raza

Campus ID 24465

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	112							200	112	Pass
	Practicals			75	40	15	10	10	10	100	60	
Padartha Vijnanam (Set- FB)	Theory	200	109							200	109	Pass
	Practicals	100	50	60	50	30	17	10	10	200	127	
Kriya Sharira	Theory	200	110							200	110	Pass
	Practicals	100	62	70	36	30	20			200	118	
Rachana Sharira	Theory	200	100							200	100	Pass
	Practicals	100	59	70	51	30	14			200	124	
Samhita Adhyayan - I (Set-FC)	Theory	100	50							100	50	Pass
	Practicals			75	50	15	9	10	10	100	69	
GRAND TOTAL										1700	979	Second Class

Total Marks Scored (in words): NINE HUNDRED SEVENTY-NINE

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A098

Name Vaishnavi Chatarwad

Campus ID 24510

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec	
Sanskritam Evam Ayurveda Ithihas (Set - FA)	200	122							200	122	Pass
			75	52	15	12	10	10	100	74	
Padartha Vijnanam (Set- FB)	200	125							200	125	Pass
	100	66	60	53	30	23	10	10	200	152	
Kriya Sharira	200	127							200	127	Pass
	100	75	70	64	30	27			200	166	
Rachana Sharira	200	110							200	110	Pass
	100	71	70	60	30	19			200	150	
Samhita Adhyayan - I (Set-FC)	100	61							100	61	Pass
			75	66	15	13	10	10	100	89	
GRAND TOTAL									1700	1176	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED SEVENTY-SIX

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A099

Name Vikram Kumar

Campus ID 24536

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	130							200	130	Pass
	Practicals			75	44	15	12	10	10	100	66	
Padartha Vijnanam (Set- FB)	Theory	200	107							200	107	Pass
	Practicals	100	72	60	52	30	19	10	10	200	153	
Kriya Sharira	Theory	200	126							200	126	Pass
	Practicals	100	68	70	50	30	24			200	142	
Rachana Sharira	Theory	200	113							200	113	Pass
	Practicals	100	67	70	55	30	18			200	140	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	70	15	10	10	10	100	90	
GRAND TOTAL										1700	1124	First Class

Total Marks Scored (in words): ONE THOUSAND ONE HUNDRED TWENTY-FOUR

College Name: Yenepoya Ayurveda Medical College & Hospital

YENEPOYA

(Deemed to be University)
University Road, Deralakatte. Mangalore 575018

Statement of Marks

I Professional BAMS Examination - June 2024

18/06/2024 - 30/06/2024

Roll Number: 22A100

Name Visakha Bhattia

Campus ID 24523

Subject	Theory/Practical		Viva		IA		Practical Elective		Total		Remarks	
	Max	Sec	Max	Sec	Max	Sec	Max	Sec	Max	Sec		
Sanskritam Evam Ayurveda Ithihas (Set - FA)	Theory	200	133							200	133	Pass
	Practicals			75	50	15	13	10	10	100	73	
Padartha Vijnanam (Set- FB)	Theory	200	125							200	125	Pass
	Practicals	100	75	60	56	30	26	10	10	200	167	
Kriya Sharira	Theory	200	130							200	130	Pass
	Practicals	100	76	70	64	30	27			200	167	
Rachana Sharira	Theory	200	114							200	114	Pass
	Practicals	100	71	70	59	30	21			200	151	
Samhita Adhyayan - I (Set-FC)	Theory	100	57							100	57	Pass
	Practicals			75	73	15	15	10	10	100	98	
GRAND TOTAL										1700	1215	First Class

Total Marks Scored (in words): ONE THOUSAND TWO HUNDRED FIFTEEN

College Name: Yenepoya Ayurveda Medical College & Hospital